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FYBA Economics- | (OLD)
Sample Question Paper

Micro Economics studies ---------

FEH YA - T 33T .

A. The behavior of individuals, households and firms / dgfad®, ER?lT-ﬁ d

B. Aggregate demand and aggregate supply / T&UT Ararofr 3mfor URUT
W

C. National Income / ISEIT 3cTeol
D. International Trade / TTARRTSEIT SATAR

Concept of ‘Ceteris Paribus’ refers to ---------

‘Ceteris Paribus’ %WFIT 3 AT IR FT -

A. All other things being equal / 3R IRTEAT FHIIH 3Te.

B. All other things being unequal / 3a¥ IRTEACY HITH AGTLT.
C. Both are correct / leg) sRIeT

D. None of above / @lTeldehT ATET.

A. Adam Smith / 37 T

B. Alfred Marshall / 37Te3h8 #TeTer
C. David Ricardo / fag Reprsf

D. Karl Marx / &hTel HTFH



Q4.

Q5.

Q6.

Consumer spends his money income on different goods in such a way that
the ratio of marginal utility to price is --------- :

3Y3FAT 3Tl ARMTelTel ScUoet TEJAR 3R FehR T Il 1 WA

A. Different / 319HTT
B. Zero /[

C. Unlimited / 31#3Tg
D. Same(Equal) / GHTT

When Average Product is maximum, then the total product is --------- :

SISET WG 3cTA FEAH (FATG) A, degl THOT IR B

A. Rising at an Increasing Rate / aT&caT 3Tl dTad
B. Constant / 2R 3/aa
C. Rising at a Diminishing Rate / &&caT 3T« dlad

D. Declining / &ed

When Total Product is maximum and constant then the marginal product is -

A. Negative / HUTcHR
B. Zero / = HTellel

C. Maximum / H#g<IH (hHATdT)

D. Constant / T&2R



Q7.

Q8.

Qo.

Q10.

Monopolist can determine:

HFAGRTCT WeiTeldehl HIUTT ST XA At 2

A. Price / fhdd

B. Output / 3cHTceT

C. Neither price nor output / fhed T 3cdTesT ATUHT FTEIET ATET
D. Either price or output / fFed & 3cUTesT ITIHT VTR TahdT

For maximum profit the condition is :

HEAH TFATHTST WTelleTdeh! shlUTCH 37T oITa] 3HTg ?

A. AR=AC/AR=AC

B. MR=MC/MR=MC
C. MR=AR/MR=AR
D. MC=AC/MC=AC

Under a single firm does not have any control over the price
of its product.

WTelTertehT ShIOTCAT ATSTRUS HIVTCITET TehT YETd ScaTeaATedT fherdiar
IGRELGE R

A. Monopoly / FFdGIT

B. Oligopoly / 37edTf8R

C. Monopolistic competition / FFGRIgercT TeT

D. Perfect competition / quT Feif

Which of the following is the commonly used method of pricing?

A. Full cost pricing / 9ot @< fracT

B. Average pricing / TRIERT @I fharay

C. Variable cost pricing / Seoidr @9 fhady
D. Fixed cost pricing / f&2R @d fFad



